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Selving Exponent

ial Equations

Converting Logar ic and |

", Exponential Forms

y = log,x is equivalent to x = b”.

Solve 125 = 25%,

1. Get same bases. 125 =5° and 25 = 5°.
2. Set exponents equal to each other.
3. Solve. .

Selve. .

1. 2%=8 2
3. 4 =1 .
. 16 4

4y 1
5 97 = . .
81 6
7. mmxlm - mmmx+m 8.

w p 43

Write 6° = 216 in logarithmic form. x = log 216

Write log 625 = x in exponentiai form. |

Write problems 1-5 in _ommlﬁ,::\__n form. Write problems 6-10 in
exponential form.,
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10* = 10000

Ho ey b
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15%2 = 2054[15

wme — .@xi‘_

log.125=3

log, ;3.2 = 1



Evaluating Common
Natural-Logarithms

7 e

and-

Jflog A=y then log, A =y and 10Y = A
~IfInx =y then log x =y and e’ = x.

1. Rewrite in exponential notation. 4%/84 _ 1
4 _ . | N i
2. Write with common base. 84 _ g1 Mwmﬁw___m Aﬂwm:a e* keys found on a scientific calculator fo find
: = . wing.
3. Set exponents equal to each other. &= 1 log x = 0.02 ._ nx=52
4. Solve. = 64 1. Rewrite.  10%%=x 1. Rewrite. e®? = x
, 2. Solve. 1.047 = x 2. Solve. 181.272 = x
Soive. i ‘ T
Use a calculator to solve for x. Round answers to the nearest
1. log 25 =2 o L thousandth. |
. log, x=3 :
1o 1. log x=3.963 2. log x = 0.0238
..u.
3. o 3= .._I " ..
9 2 4. _Ommmw =3%+6 .
: 3. logx=-0.3421 4. log x =-0.98
5. log L =-x—4
B 6. log,,100 = x - .
5. Inx=1.304 6. . Inx =8.628
4
.N.. _O =
921379 = 2X 8. log, 9 =x+3 _
7. Inx=0.0832 8. Inx=-52
SR G b



‘_ , ‘Common and Natural m.omm%rim

PR

" Rational Exponents

A common logarithm is a log A natural fogarithm (In) is a iog Na=2a" and Ya™=a™ ’
with base = 10. with base e. :
log A =log, A {e is used in many applications.) Igm
in x =log_x
Ve 4 512 TS5 a2 BMANTE _ (U213 (341
Both iog and in keys can be found on a scientific caiculator. Nza) = (za)* TWIMV = mm_n A C I T R a 1 1 b
: -

Examies "
lr.)%\!b:nr; R
rind log 0.08 using a calculator. - Find in 5.2 using a calculator.
iog 0.05 = -~1.097 in 5.2~ 1.648 Simpiify. Rewrite with positive, rational exponents,

. @ 2. A2

Solve. Round answers to the nearest thousandth. _

1. log37 2. iog 322 )

s (325 & &6

- 4b -
3. log 0.05 4, jog2+iog®
215 17, 37, 27

5. 2.2 8 x7e xe x
- fog 151 . .
3. og 9 8. in45
7. ing2 g in 640 7 mm\m. o4 g Ax-:m «-&J.a
€. In 1000 + In 500 1¢C.
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Page 40 -
1.5 32 10x+2 2.%24+3x-2

3. 3% - Bx 4, -x% + 5x + 1
5. 88 6. -63
Page 41

1. Function and 1-1
2. Function, not 1-1
3. Function and 1-1
4. Nelther function nor 1-1

Page 42
1.1 = dx + 2

3. f'1(x) =2X+2

-1 _,___4,'__ -1 3
E.f(x) = 5(x + 3) 6. (%)= W
Page 43 ]
1.3 2.3 3,-2 4.1
4
5. -1 6. -1 7.-8 B+
Page 44 ]
1. log,81 = 4 2. log,g0-1 =1
1 1 -
3. 10955 = -5 . 4. log,,10000 = 4
5.log,;225V16 = 3 6.2%=8
3o 3_ 1L
7.5%3=125 8.3%=5
9.3.2' = 3.2 10, (Z)% =%
Page 45
1.5 2.1000 3.9 4, -1
5.-2 6. -2 7.1 8.-5
Page 46
1.0.568 2.2.508 3.-1.301 4.1.079
5.2.083 6.1504 7.4.127 8. 6461
9. 13.12210. 4.585 :
Page 47
1. 9183.326 2. 1.056
3. 0.455 4, 0.108
5. 3.684 6. 5585.895
7.1.087 8. 6.006

Page 48 .
1.00844 2.2 3
5.1 6.0778 7.

8.2.096 10.5.904

Page 49

1. 1.34 2.983. 3
5.-0.27 6.12.02
Page 50

,1.1og,3 + log,y 2.
3. Llog,5 4.

5. 2y(lo_gbx —log,5) 6.

7. log,m°n 8.

d
9. logs,( W)

Page 51

1.4/3 2.8 3.
6

5.7.-7

10.

.2814 4,-1.135
-5.672 8.0.B03

1.93 4.0.64

logb —log,c
log2 + 3 loggx
log,(xyz)

|093( ) g

LT S oy

fog, (%) :

2. xV5y?EZ% or {(PZ)"®
4. 631'28

6. x87

8. x5y8

1.'6y1.’6

10. (xy) /8 or x




